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QUESTION 1

A solution developer is considering creating a WebSphere MQ service and a DB2 database service to be consumed by
a message flow.

What are characteristics of database services and WebSphere MQ services?(Select three.)
A. A database service can only be called froma database node.

B. A database service can be stored in the IBM Integration Bus Integration Registry.

C. A MQ Service can be stored in the IBM Integration Bus Integration Registry.

D. Database services and WebSphere MQ services are defined with WSDL.

E. Service Discovery can be used to create database and WebSphere MQ services.

F. In a database services, only Insert, Update, and Delete database operations are supported.

Correct Answer: CDE

QUESTION 2

A solution developer needs to connect to an IBM iSeries based warehouse system via Extensible Program Call Markup
Language (xPCML). The solution developer chooses a configurable service to store the connection information of the
system.

Which configurable service should the developer use?

A. IMSConnect

B. UserDefined

C. EISProviders

D. CICSConnection

Correct Answer: B

QUESTION 3

A solution developer has to support three environments: development, test and production. Therefore, the solution
developer has to customize an application to reflect changes such as input queue names, IP addresses, database
names and number of additional instances. What should the developer use to change the properties for each
environment?

A. a runtime command

B. a configurable service

C. a .propertiesfile in the application
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D. the IBM Integration Bus web user interface

Correct Answer: D

QUESTION 4

A solution developer needs to developa generic message handler that is common to all applications and message flows.
The message handler parses a complex file than contains healthcare records and extracts Patient Eligibility requests.
The developer wants to make and deploy changes to the message handler without redeploying all the message flows.
How should the developer define the Integration Bus artifacts?

Define the message handler as:

A. a subflow in a library and define the message flows as services that reference the library.

B. a subflow in a library and define the message flows as applications that reference the library.

C. a subflow in a library and define the message flows as independent resources that reference the library.

D. an integrationservice and define the message flows as applications that reference the integration service.

Correct Answer: D

QUESTION 5

A business analyst is developing a Business Process Diagram which needs some business data from an external
corporate service.The business analyst defined the inputs/outputs for the IBM Business Process Management (BPM)
Standard Edition integration service and exported all information as a.twxfile and delivered it to the IBM Integration Bus
solution developer.

What is the next step that the developer should take?

A. Define a WSDL interface based on the information in the.twxfile.

B. Import the.twxfileto create integration service in the Integration Toolkit.

C. Import the.twxfile to create DFDL schema definition in the Integration Toolkit.

D. Use the BPM Toolkit to convert the.twxfile into BAR file suitable for the Integration Toolkit.

Correct Answer: A
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